Q @ e TT murto -osien vihennys (sekamurto)

Nimi: Paivimaara: Pisteet:
o2 2 1_
3 5 6 6
41 o1
5 4 2 2
43 o1
7 9 2 3
4_2_ 4_1_
g8 7 9 7
21_13_ 12_1_
3 4 5 7
2_1_ 3_1_
3 4 8 5
21 2 4
4 3 4 7
2 6 1 5
378" 375"
2_1_ 3_4_
4 9 4 6
32 3.3
4 3 5 7
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@ @ 8 TT murto -osien vihennys (sekamurto)

Nimi: Paivamaara: Pisteet:
1 2 14 2 1 1
2——1==— S =

3 5 15 6 6 6

4 1 11 21_1_2

5 4 20 2 2

4 3 5 21_1_13_21
7 9 21 2 3 6 6
4 2 3 4 1 19

8 7 14 9 7 63

1 3 7 2 1 44
371371 15777355715
2 1_5 317

3 4 12 8 5 40

2 1 7 1 2 4 1

12— =-=1= 1———=—3

4 3 6 6 4 7 1

2 6 11 1 5 35 17
373712 275 18 '
2 1_7 341

4 9 18 4 6 12
B2 B0 3.3_6

4 3 1 12 5 7 35
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